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ONEDS Y DSEI AL DS
220,000€ =1,000H 220,000
OXNMENE ZAI2 1,000,000& x203| 20,000
(OESE=1=-Jc-R= > &= M=+ 30,000,000 23| 60,000
ONAYEZLRI MNRN= 10,000,000 *23| 20,000
O=22d CSu= 10,000,000& *23] 20,000
O=2UWUs /A=en=s 1,500,000 10 x23| 30,000
OJ|&XNY ExASsSE IR
30,000,000 23] 60,000
O TEAHAN =R 25,000,000 23| 50,000
202 044l 460,000 314,000 146,000
03 =220 30,000 30,000 0
OuUNEMNE S0 ME A0
7,500,000 x4H 30,000
05 22& W=0H| 430,000 284,000 146,000
0O22Y N0l 120,000& 1,000 3 360,000
OFUZTRAY LB DFOIH|
17,500,000 x4 H 70,000
A APDIXEZS AT SMEX FA 4,876,675 3,677,614 1,199,061
TE2 SMEI A =4 4,820,425 3,623,704 1,196,721
101 @124 H] 159,981 137,366 22,615
04 JI2ZtHIZ2 2 ANEES 159,981 137,366 22,615
OFUWAY JIZEH22XH(X2IH)
1,591,200 x12& «7H 133,661
OFRUHAY JI2ZtHIZ22 (X)) _HESIHY|
200,000 x7H x23| 2,800
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R PPN = RSy

g UX AE =E

el ME ADIRAES flE 2M=T £X (sl &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFUAG JZH=ER Exg
80,000& x7H » 128 6,720
OFUAE JIANZ 22X 4UES
150,000& +7H 128 12,600
OFUAY JAH22T Az LT
50,0003 x7H » 128 4,200
201 £B-2dH| 3,542,672 2,674,612 868,060
01 At 22l 953,960 709,060 244,900
ozUAE SAE AE ™Meldl
200,000& =123l 2,400
OFUAY EI S RAE=S 2,000,000& 23] 4,000
oAZH &Y XA 300,000& x500H 150,000
OCHOA MOHMED] AZHE FIt NS
300,000& x50 13| 15,000
(OFS e B=R= 3=l 400,000& x1,870H 748,000
020208 =2 ZHEE R 16,000, 000& 12/ 16,000
OFU FEMEXAE RANE=>
1,000, 000& *52] 5,000
O32& =2 HX 2yl 180,000& = 12& 2,160
OETAE HEold X2
3,000,000 =14l 3,000
oddsid 2% 500,000 *4K 2,000
OFNA BFF HE 450,000& x1200 & 5,400
OZLA=L ZASBIMA ZHE L AHA S
Il =28 & 1,000, 000& 14! 1,000
02 3322l 2,112 1,152 960
OTPUAY ARAXIEI| et oIHY Sa
96,000& 123 1,152
OddsHa F=D| det 40,000& 124 480
OHEENA SIHFHI &l e
40,000& 124 480
03 &AL Z I 6,000 6,000 0
OXNA(ZLE T) L i &
3,000,000& 23] 6,000
04 XEEENH A ZH 2,580,600 1,958,400 622,200
o8 A =ZXME 2,580,600
O=XNEQUE 1,380,000& «1,870 2,580,600
202 odl 260,000 130,000 130,000
04 = H &t Bl 260,000 130,000 130,000
OZFRd AN NE2ASE
,000,000& *30H 60,000
CERE-SU-NEN-LELE L
2,500,000 x80H 200,000
307 21201 A 664,772 638,989 25,783
05 RIZt2IE = 494,772 468,989 25,783




AR E B
DX AIE B E

DRE ADIERE Sl

- _ _ RE]
N X8-S (3H) - MEAY - B gﬁ‘&i HR=2
OXEEFAIE 2HH(BZ2R22)
1,000,000 x12& 12,000
OXXME=AA AFRE o182 482,772
(OPIR=3=| 442,380
— A& 3,814,050 x 12 120 & 45,769
— WA} 1,935,800& 14 1204 & 325,215
— F AR 2,063,550 x2H x 1201 & 49,526
—24d& 1,822,480 *x1¥H + 120 & 21,870
OANZAZ224H 40,392
—10&8 JI=E
16,830 * 10 x20 Al 2H+ 1200 & 40,392
07 H=2X223 170,000 170,000 0
OAIYE2 2 3,400,000& x50 170,000
309 =2 6,000 6,000 0
02 2RI Z2HIMEEZ 6,000 6,000 0
OZRAZNU0 HSZ =22
3,000,000 23| 6,000
401 Al HI L £ 0HHI 100,000 15,000 85,000
01 Al& H| 100,000 15,000 85,000
OY XA HMNENHEOIE =0/AIE =4 Z2AH
100,000, 000 1Al 100,000
405 XHoHFE S HI 7,000 21,737 N14,737
01 ML =EEFSH 7,000 21,737 N 14,737
oNMEHHAN 2SI 2 5,000,000 *13] 5,000
OFWAIE H&ED WA 2,000,000& «1CH 2,000
406 JIEFXI 20| & 80,000 0 80,000
01 JIEFAF=201 A 80,000 0 80,000
OBRA=A B2 40,000,000 x2S 80,000
A232 SEHALE H 2= 16,000 14,080 1,920
202 044 10,000 10,000 0
01 2L Y| 10,000 10,000 0
OLANER SHEBL23 AHAEZRS 200,000 *x50H 10,000
203 SR F & 1,200 1,200 0
03 AIBF=AAHRS | 1,200 1,200 0
© = AF2tH AH2F =] 300, 000& *43] 1,200
204 2R 4= A H| 4,800 2,880 1,920
03 EHYLE2AY 4,800 2,880 1,920
OZ2F& S EY323 100,000& *4H x12& 4,800
22 storsSte A A2 A 40,250 39,830 420
203 & R =&t 40,250 39,830 420




2AM: XS
M X AE =2
el R ADIZAES SIE SM=X =X (el @2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
02 RAIINMHR2FAH| 40,250 39,830 420
O=3(8509) 40,250
oJ|= 80,000& *100H 8,000
O=x=1 60,000& *200H 12,000
O=x=1 45,000& *300H 13,500
O=x=1 30,000 *200H 6,000
O=x=1 15,0003 x50H 750
SRAEFOUSEI 2SN 75,500 75,500 0
HdAX L SMOIE K& 75,500 75,500 0
301 deEtE X = 75,500 75,500 0
PRI 75,500 75,500 0
oY XY 4EA 7
30,000& 1,500 45,000
OdAX XN& B3I + 5,000& *1,600H 8,000
OHY etd X MESE 2Ll
50,000& *150H 7,500
O&Y JIH L= X MeEgsEs 2y
50,000& *300H 15,000
HESHAL (MRS ) 101,485,939 100, 163, 464 1,322,475
PleESAY|(E5Z) 101,160,751 99,840,276 1,320,475
oA (BH) 67,266,942 65,698,513 1,568,429
101 @121 67,266,942 65,698,513 1,568,429
01 24 63, 155,522 61,933,296 1,222,226
0I123((1,1779) 45,030,347,000& *1 45,030,347
=4 18,125,175
OlRsRIA=Y 564,514,000& x 1 564,514
odzx4¢ ,567,392,000& «1 2,567,392
(@F-niyeE= 390, 154,000& x 1 390, 154
O&d=2xg It 2 834,812,000 x 1 834,812
O&dIZag FIHa2 117,761,000& * 14 117,761
OIE=Y 720,891,000& x 1 720,891
OXHsHI 8 xE 154,762,000 14 154,762
[@F=JV =Ry =y 268,590,000& 1 268,590
Oz 67,328,000& 14 67,328
OgRUHex= 4,812,000& x 1 4,812
OJlsdesxg 168,275,000& 1 168,275
OJIsdeEsY Iz 104,899,000& =14 104,899
OEFX22Y 775,000& 14 775
O RgRxL 4,810,000 x 1 4,810
O9zgesed 200,000,000 1 200,000
OSx&R2Y 383,617,000& 1 383,617

_15_




AN XX HE D
M HE2G Y (KX E )
CHol: ol 2 ol (S 2)

SA - ZE-B(EA) - NRAY - B S il
OS=HRxE Itz 24,659,000 14 24,659
O&d=¢ 52,898,000& 1 52,898
(OFSE=ESEEa=s 11,071,000& 14 11,071
OAzteZ22+¢ 4,339,400,000& 14 ,339,400
Oxgz2f=+¥ 57,092,000& 14 57,092
O&cIgR+< 40,272,000 14 40,272
OFHZ Al 1,798,412,000& =14 , 798,412
OZEFOtHI 3,589,095,000& 14 ,589,095
OAHIE &I 802,214,000& » 14 802,214
OR+=UHYUsRA=Y 13,285,000& 14 13,285
OHlaZfs+E 13,285,000& =14 13,285
OREsRAY 17,713,000& » 14 17,713
OguE == 626,221,000& 14 626,221
(O PNSNESEg=, 25,462,000& 14 25,462
omMeze=4 33,408,000& 0.5 16,704
Oseifs =¥ 100,000& 8 & «180H 144,000

02 JIEHE 2 4 111,420
OZIIH Jles 2,725,192,000& 14 , 725,192
OEa= 436,890

ONs=g 28,054,000& 14 28,054
oMdstdlEx4< 3,796,000 » 14 3,796
OAzte 2224 139, 103,000& =14 139,103
OUg sl 20,106,000& 14 20,106
OZFAZ A 62,608,000 14 62,608
OS2 X 151,366, 000& =1 151,366
OAHILE &l 22,017,000& 14 22,017
OsgZ2fs+¥ 9,840,000& 14 9,840
CHRAZE JIE=S 299,363,000& » 14 299,363
o4 165,024
OFSE=E = 20,072,000& 14 20,072
OFZ+=Eitet= 822,000& 14 822
OFSFes b= W Fald= 1,973,000& 14 1,973
ONs=g 4,603,000 14 4,603
oMdstdlExz=4< 14,943,000& » 1 14,943
Obt&E =g 597,000& 14 597
OUg sl 3,287,000& 14 3,287
OF M Z Al 10,684,000& » 14 10,684
OXSE Xl 11,656,000& 14 11,656
OFEFItHI 29,953,000 14 29,953
OAIIE &l 7,213,000& 14 7,213
OAlzte 22+ 32,132,000& 14 32,132
Osg2x=2sH 27,089,000& 14 27,089
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R PPN = RSy
M HY2IAZH (KX D)
el 2 (BR) (Sl & &)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZ22 AHEERES(LELE MHEE) 377,228
OCnE:Ed 14,235,000, 000& *1.65% 234,878
OMTHE A 14,235,000, 000& * 1% 142,350
AZEBXH(BZ) 2,789,597 2,709,663 79,934
204 AR A H| 2,789,597 2,709,663 79,934
02 a2 =4 2,189,229 2,139,280 49,949
(OESI= 1N, || 2,189,229,000& 14 2,189,229
03 EZY 2 600,368 570,383 29,985
OSE LA (HAUESHI)
600,367,460& 14 600,368
AL HA3MNE(EZ) 14,536,900 15,163,600 A 626,700
04 HIRESS 14,536,900 15,163,600 A 626,700
01 H32E= 11,416,900 12,283,600 A 866,700
OfuI=E = g= 9,700,000& *1,177H x14 11,416,900
02 SCALEES 3,120,000 2,880,000 240,000
02T U LARIRY HEHE
260,000,000& x12& 3,120,000
Jl= &l 325,188 323,188 2,000
22 A Y| 325,188 323, 188 2,000
201 Let24d] 82,036 82,036 0
01 At 22/l 82,036 82,036 0
O ZHot i 82,0003 x34H 2,788
O =&l 8,000 x34H 7L «12& 22,848
OB+t 90,000& *x30H «12& 32,400
OHRZEIE M 80,000 *300H 24,000
202 044l 69,552 69,552 0
01 SLHOIYI 64,800 64,800 0
AP SHOH 180,000& 30 128 64,800
02 M0 4,752 4,752 0
o2& 4,752
oJlz 138,000& 2 122 3,312
O It &t 60,0003 x2H =122 1,440
203 R =&t 145,700 143,700 2,000
01 JI22E YR =2H 140,300 138,300 2,000
OJA2HLRFNHI(AZE) 79,200,000 14 79,200
OJIZ2HILFIHI(RAIE)
56,100,000& »1H 56,100
OJZ2YELRFIHI(ZEF) 5,000,000& 5,000
04 FN2ELRZ=TH| 5,400 5,400 0
ORM2IYRFLHI 450,000& x12& 5,400
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